Advanced Studies in Contemporary Mathematics 28 (2018), No. 4, pp. 577 - 587

SOME IDENTITIES OF THE DEGENERATE CHANGHEE NUMBERS OF SECOND KIND ARISING FROM DIFFERENTIAL EQUATIONS

SE-KYO CHUNG¹, GWAN-WOO JANG², JONGKYUM KWON³, AND JINHO LEE⁴

ABSTRACT. In this paper, we study the degenerate Changhee numbers of second kind and derive a family of differential equations satisfied by the generating function of these numbers. As an immediate application, we derive an identity expressing the higher-order degenerate Changhee numbers of second kind in terms of the degenerate Changhee numbers of second kind.

1. Introduction

As is well known, the Changhee polynomials are defined by the generating function to be

$$\frac{2}{t+2}(1+t)^x = \sum_{n=0}^{\infty} Ch_n(x) \frac{t^n}{n!}, \text{ (see [3,5])}.$$
(1.1)

When x = 0, $Ch_n = Ch_n(0)$, $(n \ge 0)$, are called the Changhee numbers.

In [14], H.-I. Kwon et al. introduced the degenerate Changhee polynomials are defined by the generating function to be

$$\frac{2\lambda}{2\lambda + \log(1+\lambda t)} (1 + \log(1+\lambda t)^{\frac{1}{\lambda}})^x = \sum_{n=0}^{\infty} Ch_{n,\lambda}(x) \frac{t^n}{n!}.$$
 (1.2)

When x = 0, $Ch_{n,\lambda} = Ch_{n,\lambda}(0)$, $(n \ge 0)$, are called the degenerate Changhee numbers.

We recall the Stirling numbers of the first kind $S_1(n,m)$ are defined by

$$(\log(1+t))^m = (m!) \sum_{n=m}^{\infty} S_1(n,m) \frac{t^n}{n!}, \text{ (see } [1,3,5]).$$
 (1.3)

In [3], G.-W. Jang et al. introduced the degenerate Changhee numbers of second kind are defined by the generating function to be

$$\frac{2}{1 + \left(1 + \lambda \log(1+t)\right)^{\frac{1}{\lambda}}} = \sum_{n=0}^{\infty} Ch_{n,\lambda} \frac{t^n}{n!}.$$
(1.4)

²⁰⁰⁰ Mathematics Subject Classification. 05A19, 11B37, 34A30.

Key words and phrases. degenerate Changhee numbers of second kind, differential equations.

From (1.4), we have

$$2 = \left(\sum_{m=0}^{\infty} Ch_{m,\lambda} \frac{t^m}{m!}\right) \left(1 + \left(1 + \lambda \log(1+t)\right)^{\frac{1}{\lambda}}\right)$$

$$= \sum_{n=0}^{\infty} Ch_{n,\lambda} \frac{t^n}{n!} + \left(\sum_{m=0}^{\infty} Ch_{m,\lambda} \frac{t^m}{m!}\right) \left(\sum_{l=0}^{\infty} \left(\frac{1}{\lambda}\right) \lambda^l (\log(1+t))^l\right)$$

$$= \sum_{n=0}^{\infty} Ch_{n,\lambda} \frac{t^n}{n!} + \left(\sum_{m=0}^{\infty} Ch_{m,\lambda} \frac{t^m}{m!}\right) \left(\sum_{l=0}^{\infty} (1)_{l,\lambda} \sum_{k=l}^{\infty} S_1(k,l) \frac{t^k}{k!}\right)$$

$$= \sum_{n=0}^{\infty} Ch_{n,\lambda} \frac{t^n}{n!} + \left(\sum_{m=0}^{\infty} Ch_{m,\lambda} \frac{t^m}{m!}\right) \left(\sum_{k=0}^{\infty} \sum_{l=0}^{k} (1)_{l,\lambda} S_1(k,l) \frac{t^k}{k!}\right)$$

$$= \sum_{n=0}^{\infty} Ch_{n,\lambda} \frac{t^n}{n!} + \sum_{n=0}^{\infty} Ch_{m,\lambda} \frac{t^m}{m!} \left(\sum_{k=0}^{\infty} \sum_{l=0}^{k} (1)_{l,\lambda} S_1(k,l) \frac{t^k}{k!}\right)$$

$$= \sum_{n=0}^{\infty} Ch_{n,\lambda} \frac{t^n}{n!} + \sum_{n=0}^{\infty} \left(\sum_{k=0}^{n} \sum_{l=0}^{k} \binom{n}{k} (1)_{l,\lambda} S_1(k,l) Ch_{n-k,\lambda}\right) \frac{t^n}{n!}$$

$$= \sum_{n=0}^{\infty} \left(Ch_{n,\lambda} + \sum_{k=0}^{n} \sum_{l=0}^{k} \binom{n}{k} (1)_{l,\lambda} S_1(k,l) Ch_{n-k,\lambda}\right) \frac{t^n}{n!},$$

$$(x)_{n,\lambda} = x(x - \lambda)(x - 2\lambda) \cdots (x - (n - 1)\lambda).$$

where $(x)_{n,\lambda} = x(x-\lambda)(x-2\lambda)\cdots(x-(n-1)\lambda)$. By (1.5), we get

$$Ch_{n,\lambda} + \sum_{k=0}^{n} \sum_{l=0}^{k} \binom{n}{k} (1)_{l,\lambda} S_1(k,l) Ch_{n-k,\lambda} = 2\delta_{n,0}.$$
 (1.6)

For $r \in \mathbb{N}$, the higher-order degenerate changhee numbers of second kind are defined by the generating function to be

$$\left(\frac{2}{1+\left(1+\lambda\log(1+t)\right)^{\frac{1}{\lambda}}}\right)^{r} = \sum_{n=0}^{\infty} Ch_{n,\lambda}^{(r)} \frac{t^{n}}{n!}.$$
(1.7)

From (1.4), we have

$$\left(\frac{2}{1+\left(1+\lambda\log(1+t)\right)^{\frac{1}{\lambda}}}\right)^{r} = \left(\sum_{l_{1}=0}^{\infty} Ch_{l_{1,\lambda}} \frac{t^{l_{1}}}{l_{1}!}\right) \times \dots \times \left(\sum_{l_{r}=0}^{\infty} Ch_{l_{r,\lambda}} \frac{t^{l_{r}}}{l_{r}!}\right)$$
$$= \sum_{n=0}^{\infty} \left(\sum_{l_{1}+\dots+l_{r}=n} \binom{n}{l_{1},l_{2},\dots,l_{r}} Ch_{l_{1,\lambda}} \times \dots \right)$$
$$\times Ch_{l_{r,\lambda}} \frac{t^{n}}{n!}.$$

By (1.7) and (1.8), we get

$$Ch_{n,\lambda}^{(r)} = \sum_{l_1 + \dots + l_r = n} \binom{n}{l_1, l_2, \dots l_r} Ch_{l_1,\lambda} \times \dots \times Ch_{l_r,\lambda}.$$
 (1.9)

Recently, several researchers studied some identities of special polynomials arising from differential equations (see [2,4,6-13,15-17]). Also, G.-W. Jang et al. introduced the degenerate Changhee numbers and polynomials of the second kind (see [3]). They investigated some interesting identities of these numbers and polynomials. In this paper, we investigate some explicit identities and properties of the degenerate Changhee numbers of the second kind arising from the differential equations.

2. Some identities of degenerate Changhee numbers of second kind arising from differential equations.

In this section, we investigate some identities on the degenerate Changhee numbers of second kind arising from differential equations.

Let

$$F = F(t) = \frac{2}{1 + (1 + \lambda \log(1 + t))^{\frac{1}{\lambda}}}.$$
(2.1)

Taking the derivatives of (2.1) with respect to t, we have

$$F^{(1)} = \frac{2}{\left(1 + \left(1 + \lambda \log(1+t)\right)^{\frac{1}{\lambda}}\right)^2} \left(-\left(1 + \lambda \log(1+t)\right)^{\frac{1}{\lambda}-1} \frac{1}{(1+t)}\right)$$
$$= \frac{1}{(1+t)} \frac{1}{(1+\lambda \log(1+t))} \frac{-2\left(1 + \left(1 + \lambda \log(1+t)\right)^{\frac{1}{\lambda}} - 1\right)}{\left(1 + \left(1 + \lambda \log(1+t)\right)^{\frac{1}{\lambda}}\right)^2}$$
$$= \frac{1}{(1+t)} \frac{1}{(1+\lambda \log(1+t))} \left(\frac{1}{2}F^2 - F\right).$$
(2.2)

Multiple $2(1+t)(1+\lambda \log(1+t))$ on the both sides of (2.2), we get

$$F^{2} - 2F = 2(1+t)(1+\lambda\log(1+t))F^{(1)}.$$
(2.3)

From (2.3), we have

$$2FF^{(1)} = 2F^{(1)} + 2(1 + \lambda \log(1 + t))F^{(1)} + 2\lambda F^{(1)} + 2(1 + t)(1 + \lambda \log(1 + t))F^{(2)} = (2 + 2\lambda)F^{(1)} + 2(1 + \lambda \log(1 + t))F^{(1)} + 2(1 + t)(1 + \lambda \log(1 + t))F^{(2)}.$$
(2.4)

Multiple $2(1+t)(1+\lambda \log(1+t))$ on the both sides of (2.4), we obtain

$$2F(F^2 - 2F) = (4 + 4\lambda)(1 + t)(1 + \lambda\log(1 + t))F^{(1)} + 4(1 + t) \\ \times (1 + \lambda\log(1 + t))^2 F^{(1)} + 4(1 + t)^2 (1 + \lambda\log(1 + t))^2 F^{(2)}.$$
(2.5)

From (2.3) and (2.5), we have

$$2F^{3} = 4F^{2} + (4+4\lambda)(1+t)(1+\lambda\log(1+t))F^{(1)} + 4(1+t) \\ \times (1+\lambda\log(1+t))^{2}F^{(1)} + 4(1+t)^{2}(1+\lambda\log(1+t))^{2}F^{(2)} \\ = 8F + (12+4\lambda)(1+t)(1+\lambda\log(1+t))F^{(1)} + 4(1+t) \\ \times (1+\lambda\log(1+t))^{2}F^{(1)} + 4(1+t)^{2}(1+\lambda\log(1+t))^{2}F^{(2)}.$$
(2.6)

By (2.6), we get

$$2!(F^{3} - 2^{2}F) = (12 + 4\lambda)(1 + t)(1 + \lambda\log(1 + t))F^{(1)} + 4(1 + t) \times (1 + \lambda\log(1 + t))^{2}F^{(1)} + 4(1 + t)^{2}(1 + \lambda\log(1 + t))^{2}F^{(2)}.$$
(2.7)

Continuing this process, we obtain

$$N!(F^{N+1} - 2^N F) = \sum_{k=1}^N \sum_{j=k}^N a_{k,j}(N)(1+t)^k (1+\lambda \log(1+t))^j F^{(k)}.$$
 (2.8)

Let us take the derivatives of (2.8) with respect to t, we have

$$(N+1)!F^{N}F^{(1)} = \sum_{k=1}^{N} \sum_{j=k}^{N} ka_{k,j}(N)(1+t)^{k-1} (1+\lambda \log(1+t))^{j}F^{(k)} + \sum_{k=1}^{N} \sum_{j=k}^{N} j\lambda a_{k,j}(N)(1+t)^{k-1} (1+\lambda \log(1+t))^{j-1}F^{(k)} + \sum_{k=1}^{N} \sum_{j=k}^{N} a_{k,j}(N)(1+t)^{k} (1+\lambda \log(1+t))^{j}F^{(k+1)} + N!2^{N}F^{(1)}.$$

$$(2.9)$$

Multiple $2(1+t)(1+\lambda \log(1+t))$ on the both sides of (2.9), we get

$$(N+1)!F^{N}(F^{2}-2F) = N!2^{N+1}(1+t)(1+\lambda\log(1+t))F^{(1)} + \sum_{k=1}^{N}\sum_{j=k}^{N}2ka_{k,j}(N)(1+t)^{k}(1+\lambda\log(1+t))^{j+1}F^{(k)} + \sum_{k=1}^{N}\sum_{j=k}^{N}2j\lambda a_{k,j}(N)(1+t)^{k}(1+\lambda\log(1+t))^{j}F^{(k)} + \sum_{k=1}^{N}\sum_{j=k}^{N}2a_{k,j}(N)(1+t)^{k+1}(1+\lambda\log(1+t))^{j+1}F^{(k+1)}.$$

$$(2.10)$$

580

From (2.8) and (2.10), we have

$$(N+1)!F^{N+2} = 2(N+1)!F^{N+1} + N!2^{N+1}(1+t)(1+\lambda\log(1+t))F^{(1)} + \sum_{k=1}^{N}\sum_{j=k}^{N}2ka_{k,j}(N)(1+t)^{k}(1+\lambda\log(1+t))^{j+1}F^{(k)} + \sum_{k=1}^{N}\sum_{j=k}^{N}2j\lambda a_{k,j}(N)(1+t)^{k+1}(1+\lambda\log(1+t))^{j+1}F^{(k+1)} = (N+1)!2^{N+1}F + \sum_{k=1}^{N}\sum_{j=k}^{N}2(N+1)a_{k,j}(N)(1+t)^{k} \times (1+\lambda\log(1+t))^{j}F^{(k)} + N!2^{N+1}(1+t)(1+\lambda\log(1+t))F^{(1)} + \sum_{k=1}^{N}\sum_{j=k}^{N}2ka_{k,j}(N)(1+t)^{k}(1+\lambda\log(1+t))^{j+1}F^{(k)} + \sum_{k=1}^{N}\sum_{j=k}^{N}2j\lambda a_{k,j}(N)(1+t)^{k}(1+\lambda\log(1+t))^{j}F^{(k)} + \sum_{k=1}^{N}\sum_{j=k}^{N}2a_{k,j}(N)(1+t)^{k+1}(1+\lambda\log(1+t))^{j+1}F^{(k+1)}.$$
(2.11)

From (2.11), we have

$$(N+1)!(F^{N+2} - 2^{N+1}F) = N!2^{N+1}(1+t)(1+\lambda\log(1+t))F^{(1)} + \sum_{k=1}^{N}\sum_{j=k}^{N} (2(N+1) + 2j\lambda)a_{k,j}(N)(1+t)^{k} \times (1+\lambda\log(1+t))^{j}F^{(k)} + \sum_{k=1}^{N}\sum_{j=k+1}^{N+1} 2ka_{k,j-1}(N) \times (1+t)^{k}(1+\lambda\log(1+t))^{j}F^{(k)} + \sum_{k=2}^{N+1}\sum_{j=k}^{N+1} 2ka_{k,j-1}(N) \times (1+t)^{k}(1+\lambda\log(1+t))^{j}F^{(k)} + \sum_{k=2}^{N+1}\sum_{j=k}^{N+1} 2ka_{k,j-1}(N)(1+t)^{k}(1+\lambda\log(1+t))^{j}F^{(k)}$$
(2.12)

$$= \left(N!2^{N+1} + \left(2(N+1) + 2\lambda\right)a_{1,1}(N)\right)$$

$$\times (1+t)\left(1+\lambda\log(1+t)\right)F^{(1)}$$

$$+ \sum_{j=2}^{N} \left(\left(2(N+1) + 2j\lambda\right)a_{1,j}(N) + 2a_{1,j-1}(N)\right)$$

$$\times (1+t)\left(1+\lambda\log(1+t)\right)^{j}F^{(1)}$$

$$+ 2a_{1,N}(N)(1+t)\left(1+\lambda\log(1+t)\right)^{N+1}F^{(1)}$$

$$+ 2a_{N,N}(N)(1+t)^{N+1}\left(1+\lambda\log(1+t)\right)^{N+1}F^{(N+1)}$$

$$+ \sum_{k=2}^{N} \left\{\left(\left(2(N+1) + 2k\lambda\right)a_{k,k}(N) + 2a_{k-1,k-1}(N)\right)\right)$$

$$\times (1+t)^{k}\left(1+\lambda\log(1+t)\right)^{k}F^{(k)}$$

$$+ \left(2ka_{k,N}(N) + 2a_{k-1,N}(N)\right)(1+t)^{k}\left(1+\lambda\log(1+t)\right)^{N+1}$$

$$\times F^{(k)} + \sum_{j=k+1}^{N} \left(\left(2(N+1) + 2j\lambda\right)a_{k,j}(N) + 2ka_{k,j-1}(N)\right)$$

$$+ 2a_{k-1,j-1}(N)\left(1+t\right)^{k}\left(1+\lambda\log(1+t)\right)^{j}F^{(k)}\right\}.$$

By replacing N by N + 1 in (2.8), we have

$$(N+1)!(F^{N+2} - 2^{N+1}F) = \sum_{k=1}^{N+1} \sum_{j=k}^{N+1} a_{k,j}(N+1)(1+t)^k$$

$$\times (1+\lambda\log(1+t))^j F^{(k)}$$

$$= a_{1,1}(N+1)(1+t)(1+\lambda\log(1+t))F^{(1)}$$

$$+ \sum_{j=2}^{N} a_{1,j}(N+1)(1+t)(1+\lambda\log(1+t))^{j}F^{(1)}$$

$$+ a_{1,N+1}(N+1)(1+t)(1+\lambda\log(1+t))^{N+1}F^{(1)} \qquad (2.13)$$

$$+ a_{N+1,N+1}(N+1)(1+t)^{N+1}(1+\lambda\log(1+t))^{N+1}F^{(N+1)}$$

$$+ \sum_{k=2}^{N} \left\{ a_{k,k}(N+1)(1+t)^k (1+\lambda\log(1+t))^{k}F^{(k)} + a_{k,N+1}(N+1)(1+t)^k (1+\lambda\log(1+t))^{N+1}F^{(k)} + \sum_{j=k+1}^{N} a_{k,j}(N+1)(1+t)^k (1+\lambda\log(1+t))^{j}F^{(k)}. \right\}$$

Comparing the coefficients of (2.12) and (2.13), we have

$$a_{1,1}(N+1) = N! 2^{N+1} + 2(N+1+\lambda)a_{1,1}(N).$$
(2.14)

$$a_{1,N+1}(N+1) = 2a_{1,N}(N).$$
(2.15)

$$a_{N+1,N+1}(N+1) = 2a_{N,N}(N).$$
(2.16)

$$a_{k,j}(N+1) = 2(N+1+j\lambda)a_{k,j}(N) + 2ka_{k,j-1}(N) + 2a_{k-1,j-1}(N).$$
(2.17)

(2.17) holds for $2 \le k \le N$ and $k+1 \le j \le N$.

From (2.3) and (2.8), we get

$$F^{2} - 2F = \sum_{k=1}^{1} \sum_{j=k}^{1} a_{k,j}(1)(1+t)^{k} (1+\lambda \log(1+t))^{j} F^{(k)}$$

= $a_{1,1}(1)(1+t)(1+\lambda \log(1+t))F^{(1)}$
= $2(1+t)(1+\lambda \log(1+t))F^{(1)}$. (2.18)

By (2.18), we get

$$a_{1,1}(1) = 2. (2.19)$$

From (2.14), we have

$$a_{1,1}(N+1) = N!2^{N+1} + 2(N+1+\lambda)a_{1,1}(N)$$

$$= N!2^{N+1} + 2(N+1+\lambda)((N-1)!2^N + 2(N+\lambda))$$

$$\times a_{1,1}(N-1))$$

$$= N!2^{N+1} + (N-1)!2^{N+1}(N+1+\lambda) + 2^2(N+1+\lambda)_2$$

$$\times a_{1,1}(N-1)$$

$$= \cdots$$

$$= N!2^{N+1} + (N-1)!2^{N+1}(N+1+\lambda)_1 + \cdots + 2^N$$

$$\times (N+1+\lambda)_N a_{1,1}(1).$$
(2.20)

From (2.19) and (2.20), we get

$$a_{1,1}(N+1) = N!2^{N+1} + (N-1)!2^{N+1}(N+1+\lambda)_1 + \dots + 2^{N+1}$$
$$\times (N+1+\lambda)_N$$
$$= 2^{N+1} \sum_{l=0}^N (N-l)!(N+1+\lambda)_l.$$
(2.21)

From (2.15) and (2.19), we have

$$a_{1,N+1}(N+1) = 2a_{1,N}(N) = 2^2 a_{1,N-1}(N-1) = \dots = 2^N a_{1,1}(1)$$

= 2^{N+1}. (2.22)

Continuing this process, we get the following theorem.

Theorem 2.1. Let $N \in \mathbb{N}$, then the following differential equations

$$N!(F^{N+1} - 2^N F) = \sum_{k=1}^N \sum_{j=k}^N a_{k,j}(N)(1+t)^k (1+\lambda \log(1+t))^j F^{(k)},$$

have a solution for $F(t) = \frac{2}{1 + (1 + \lambda \log(1+t))^{\frac{1}{\lambda}}}$, where

$$a_{1,1}(N) = 2^N \sum_{l=0}^{N-1} (N-1-l)!(N+\lambda)_l.$$

$$a_{1,N}(N) = 2^N.$$

$$a_{1,j}(N) = \sum_{i_1=0}^{N-j} \sum_{i_2=0}^{i_1} \cdots \sum_{i_{j-1}=0}^{i_{j-2}} \sum_{l=0}^{i_{j-1}} 2^N (N+j\lambda)_{N-j-i_1} \\ \times (j-1+(j-1)\lambda+i_1)_{i_1-i_2} \cdots (2+2\lambda+i_{j-2})_{i_{j-2}-i_{j-1}} \\ \times (i_{j-1}-l)! (i_{j-1}+1+\lambda)_l.$$

$$a_{N,N}(N) = 2^N.$$

$$a_{k,k}(N) = \sum_{s_1=0}^{N-k} \sum_{s_2=0}^{s_1} \cdots \sum_{s_{k-1}=0}^{s_{k-2}} \sum_{l=0}^{s_{k-1}} 2^N (N+k\lambda)_{N-k-s_1} \\ \times (k-1+(k-1)\lambda+s_1)_{s_1-s_2} \cdots (2+2\lambda+s_{k-2})_{s_{k-2}-s_{k-1}} \\ \times (s_{k-1}-l)! (s_{k-1}+1+\lambda)_l.$$

$$a_{k,j}(N) = 2(N+j\lambda)a_{k,j}(N-1) + 2ka_{k,j-1}(N-1) + 2a_{k-1,j-1}(N-1).$$

$$a_{k,N}(N) = \sum_{m_1=0}^{N-k} \sum_{m_2=0}^{m_1} \cdots \sum_{m_{k-1}=0}^{m_{k-2}} 2^N k^{N-k-m_1} \\ \times (k-1)^{m_1-m_2} \cdots 2^{m_{k-2}-m_{k-1}}.$$

584

By (1.4), we have

$$F^{(k)} = \left(\frac{d}{dt}\right)^{k} F(t)$$

= $\left(\frac{d}{dt}\right)^{k} \sum_{n=0}^{\infty} Ch_{n,\lambda} \frac{t^{n}}{n!}$
= $\sum_{n=0}^{\infty} Ch_{n+k,\lambda} \frac{t^{n}}{n!}.$ (2.23)

From (2.8) and (2.23), we have

$$\sum_{k=1}^{N} \sum_{j=k}^{N} a_{k,j}(N)(1+t)^{k} (1+\lambda \log(1+t))^{j} F^{(k)}$$

$$= \sum_{k=1}^{N} \sum_{j=k}^{N} a_{k,j}(N) \Big(\sum_{m=0}^{\infty} (k)_{m} \frac{t^{m}}{m!} \Big) \Big(\sum_{l_{1}=0}^{\infty} (j)_{l_{1}} \lambda^{l_{1}} \frac{1}{l_{1}!} (log(1+t))^{l_{1}} \Big) F^{(k)}$$

$$= \sum_{k=1}^{N} \sum_{j=k}^{N} a_{k,j}(N) \Big(\sum_{m=0}^{\infty} (k)_{m} \frac{t^{m}}{m!} \Big) \Big(\sum_{l_{2}=0}^{\infty} (j)_{l_{1}} \lambda^{l_{1}} \sum_{l_{2}=l_{1}}^{\infty} S_{1}(l_{2},l_{1}) \frac{t^{l_{2}}}{l_{2}!} \Big) F^{(k)}$$

$$= \sum_{k=1}^{N} \sum_{j=k}^{N} a_{k,j}(N) \Big(\sum_{m=0}^{\infty} (k)_{m} \frac{t^{m}}{m!} \Big) \Big(\sum_{l_{2}=0}^{\infty} \sum_{l_{1}=0}^{l_{2}} (j)_{l_{1}} \lambda^{l_{1}} S_{1}(l_{2},l_{1}) \frac{t^{l_{2}}}{l_{2}!} \Big) F^{(k)}$$

$$= \sum_{k=1}^{N} \sum_{j=k}^{N} a_{k,j}(N) \sum_{l_{3}=0}^{\infty} \Big(\sum_{l_{2}=0}^{l_{3}} \sum_{l_{1}=0}^{l_{2}} \binom{l_{3}}{l_{2}} (j)_{l_{1}} \lambda^{l_{1}} S_{1}(l_{2},l_{1}) \frac{t^{l_{2}}}{l_{2}!} \Big) F^{(k)}$$

$$= \sum_{k=1}^{N} \sum_{j=k}^{N} a_{k,j}(N) \sum_{n=0}^{\infty} \Big(\sum_{l_{3}=0}^{l_{3}} \sum_{l_{2}=0}^{l_{2}} \binom{l_{3}}{l_{2}} (j)_{l_{1}} \lambda^{l_{1}} S_{1}(l_{2},l_{1}) \frac{t^{l_{3}}}{l_{3}!} \frac{t^{l_{3}}}{l_{3}!} \times \Big(\sum_{l_{4}=0}^{\infty} Ch_{l_{4}+k,\lambda} \frac{t^{l_{4}}}{l_{4}!} \Big)$$

$$= \sum_{n=0}^{N} \Big(\sum_{k=1}^{N} \sum_{j=k}^{N} \sum_{l_{3}=0}^{n} \sum_{l_{2}=0}^{l_{3}} \sum_{l_{1}=0}^{l_{2}} \binom{n}{l_{3}} \binom{l_{3}}{l_{2}} a_{k,j}(N) (j)_{l_{1}} \lambda^{l_{1}} S_{1}(l_{2},l_{1}) \frac{k_{l_{3}-l_{2}}}{l_{1}} \Big)$$

$$= \sum_{n=0}^{\infty} \Big(\sum_{k=1}^{N} \sum_{j=k}^{N} \sum_{l_{3}=0}^{n} \sum_{l_{2}=0}^{l_{3}} \sum_{l_{1}=0}^{l_{2}} \binom{n}{l_{3}} \binom{l_{3}}{l_{2}} a_{k,j}(N) \frac{l_{3}}{l_{2}} a_{k,j}(N) \frac{l_{3}}{l_{3}} \sum_{l_{2}}^{l_{2}} a_{k,j}(N) \frac{l_{3}}{l_{2}} a_{k,j}(N) \frac{l_{3}}{l_{2}} a_{k,j}(N) \frac{l_{3}}{l_{2}} a_{k,j}(N) \frac{l_{3}}{l_{2}} a_{k,j}(N) \frac{l_{1}}{l_{1}} \sum_{l_{2},l_{2},l_{2}} \frac{l_{1}}{l_{1}} \sum_{l_{2},l_{2}} a_{k,j}(N) \frac{l_{1}}{l_{2}} a_{k,j}(N) \frac{l_{1}}{l_{2}} \frac{l_{1}}{l_{2}} a_{k,j}(N) \frac{l_{1}}{l_{1}} \sum_{l_{2},l_{2},l_{2}} \frac{l_{1}}{l_{2}} \frac{l_{1}}{l_{2}} a_{k,j}(N) \frac{l_{1}}{l_{2}} \frac{l_{1}}{l_{2}} \sum_{l_{2},l_{2}} \frac{l_{1}}{l_{2}} a_{k,j}(N) \frac{l_{1}}{l_{2}} \frac{l_{1}}{l_{2}} \frac{l_{1}}{l_{2}} \frac{l_{1}}{l_{2}} \frac{l_{1}}{l_{2}} \frac{l_{1}}{l_{2}} \frac{l_{1}}{l_{2}} \frac{l_{1}}{l_{2}} \frac{l_{1}}{l_{2}} \frac{l_{1}}{l_{2}}$$

Also, by (1.4), (1.7) and (2.8), we have

$$N!(F^{N+1} - 2^N F) = N! \Big(\sum_{n=0}^{\infty} Ch_{n,\lambda}^{(N+1)} \frac{t^n}{n!} - \sum_{n=0}^{\infty} 2^N Ch_{n,\lambda} \frac{t^n}{n!} \Big)$$

$$= \sum_{n=0}^{\infty} N! \Big(Ch_{n,\lambda}^{(N+1)} - 2^N Ch_{n,\lambda} \Big) \frac{t^n}{n!}.$$
 (2.25)

From (2.24) and (2.25), we get the following theorem.

Theorem 2.2. Let $N \in \mathbb{N}$, $n \in \mathbb{N} \cup \{0\}$, we have

$$Ch_{n,\lambda}^{(N+1)} = 2^{N}Ch_{n,\lambda} + \frac{1}{N!} \sum_{k=1}^{N} \sum_{j=k}^{N} \sum_{l_{3}=0}^{n} \sum_{l_{2}=0}^{l_{3}} \sum_{l_{1}=0}^{l_{2}} \binom{n}{l_{3}} \binom{l_{3}}{l_{2}} a_{k,j}(N)(j)_{l_{1}}$$
$$\times \lambda^{l_{1}}S_{1}(l_{2},l_{1})(k)_{l_{3}-l_{2}}Ch_{n-l_{3}+k,\lambda},$$

where $a_{k,i}(N)$ are the same as the numbers mentioned in Theorem 2.1.

References

- 1. L. Carlitz, Degenerate Stirling, Bernoulli and Eulerian numbers, Util. Math., 15 (1979), 51-88.
- G. -W. Jang, T. Kim, Revisit of identities for Daehee numbers arising from nonlinear differential equations, Proc. Jangjeon Math. Soc., 20 (2017), no. 2, 163-177.
- G. -W. Jang, D. S. Kim, T. Kim, Degenerate Changhee numbers and polynomials of the second kind, Adv. Stud. Contemp. Math. (Kyungshang), 27 (2017), no. 4, 609-624.
- 4. D. S. Kim, T. Kim, Some identities for Bernoulli numbers of the second kind arising from a nonlinear differential equation, Bull. Korean Math. Soc., **52** (2015), 2001-2010.
- D. S. Kim, T. Kim, J. -J. Seo, Note on Changhee polynomials and numbers, Adv. Studies Theor. Phys., 7 (2013), no. 20, 993-1003.
- T. Kim, Identities involving Frobenius-Euler polynomials arising from non-linear differential equation, J. of Number Theory, 132(2012), 2854-2865.
- T. Kim, D. V. Dolgy, D. S. Kim, J. J. Seo, Differential equations for Changhee polynomials and their applications, J. Nonlinear Sci. and Appl., 9 (2016), 2857-2864.
- T. Kim, D. S. Kim, Some identities of degenerate Daehee numbers arising from certain differential equations, J. Nonlinear Sci. and Appl., 10 (2017), 744-751.
- T. Kim, D. S. Kim, A note on nonlinear Changhee differential equations, Russ. J. Math. Phys., 23 (2016), 88-92.
- T. Kim, D. S. Kim, L. C. Jang, H. I. Kwon, Differential equations associated with Mittag-Leffer polynomials, Glob. J. Pure and Appl., 12 (2016), no. 4, 2839-2847.
- T. Kim, D. S. Kim, J. J. Seo, Differential equations associated with degenerate Bell polynomials, Inter. J. Pure and Appl. Math., 108 (2016), no. 3, 551-559.
- T. Kim, D. S. Kim, J. -J. Seo, H. I. Kwon, Differential equations associated with λ- Changhee polynomials, J. Nonlinear Sci. and Appl., 9 (2016), 3098-3111.
- T. Kim, J. -J. Seo, Revisit nonlinear differential equations arising from the generating functions of degenerate Bernoulli numbers, Adv. Stud. Contemp. Math. (Kyungshang), 26 (2016), no. 3, 401-406.
- H. I. Kwon, T. Kim, J. -J. Seo, A note on degenerate Changhee numbers and polynomials, Proc. Jangjeon Math. Soc., 18 (2015), no. 3, 295-305.
- H. I. Kwon, T. Kim, J. -J. Seo, A note on Dachee numbers arising from differential equations, Glob. J. Pure and Appl. Math., 12 (2016), no. 3, 2349-2354.
- J. K. Kwon, Y. J. Choi, M. S. Jang, S. O. Yang, M. S. Seong, Some identities involving Changhee polynomials arising from a differential equations, Glob. J. Pure and Appl. Math., 12 (2016), no. 6, 4857-4866.
- T. Kim, D. S. Kim, Degenerate Laplace transform and degenerate gamma function, Russ. J. Math. Phys., 24 (2017), no.2, 241-248.

586

Some identities of the degenerate Changhee numbers of second kind arising from differential equations 587

¹DEPARTMENT OF CONTROL AND INSTRUMENTATION ENGINEERING AND ERI, GYEONGSANG NATIONAL UNIVERSITY, JINJU, GYEONGSANGNAMDO, 52828, REPUBLIC OF KOREA *E-mail address:* skchung@gnu.ac.kr

 $^2\mathrm{Department}$ of Mathematics, Kwangwoon University, Seoul, 139-701, Republic of Korea.

 $E\text{-}mail\ address:\ gwjang@kw.ac.kr$

³DEPARTMENT OF MATHEMATICS EDUCATION AND ERI, GYEONGSANG NATIONAL UNIVERSITY, JINJU, GYEONGSANGNAMDO, 52828, REPUBLIC OF KOREA *E-mail address*: mathkjk260gnu.ac.kr

⁴DEPARTMENT OF PHYSICS EDUCATION AND RINS, GYEONGSANG NATIONAL UNIVERSITY, JINJU, GYEONGSANGNAMDO, 52828, REPUBLIC OF KOREA(CORRESPONDING AUTHOR) *E-mail address*: lee.phys.edu@gnu.ac.kr